## Nonlinear dispersive equations for group analysis

R. Balapriya<br>Department of Mathematics, Jeppiaar Engineering College, Chennai - 600119, India<br>*Corresponding author: E-Mail:balakannan75@gmail.com<br>\section*{ABSTRACT}

A class of dispersive equations is studied within the framework of group analysis of differential equations. The complete list of equivalence transformations is presented. It is shown that certain equations from the class admit nonclassical reductions. Potential and potential nonclassical symmetries are also considered.

KEY WORDS: Nonlinear dispersive equation, admissible transformations, Lie symmetries, Potential symmetries

## 1. INTRODUCTION

We consider the class of nonlinear dispersive equation (Rosenau, 2005).

$$
\begin{equation*}
E=u_{t}+\in\left(u^{m}\right)_{x}+\frac{1}{b}\left[u^{a}\left(u^{b}\right)_{x x}\right]_{x}=0 \tag{1}
\end{equation*}
$$

which is of interest in Mathematical Physics. Special cases of this class have been used to model successfully physical situations in a wide range of fields. For example, if $a=0$ and $b=n$, we have generalization of $K d V$ equation (Popovych, 2010; Rosenau, 1993)

$$
\begin{equation*}
E=u_{t}+\in\left(u^{m}\right)_{x}+\frac{1}{n}\left(u^{n}\right)_{x x x}=0 \tag{2}
\end{equation*}
$$

and the equation that corresponds to the values $\mathrm{m}=2, \mathrm{a}=\mathrm{b}=1$ describes the motion of a diluted suspension (Rosenau, 2006). Equations of the type (2) with values of the parameters $m$ and $n$ are denoted by $K(m, n)$. For example, the properties of the equation $K(2,2)$ were examined in (Popovych, 2010). Further applications of the class (1) can be found in (Rosenau, 1994, 2000, 2005, 2006) and references therein.

Our goal in this chapter is to extend certain results of the recent work (Bruzon, 2012). In particular we give an enhanced Lie group classification for the class (1). The complete list of form-preserving point transformations is presented. We show the nonclassical reductions, potential symmetries and nonclassical potential symmetries.
Equivalence Transformations: We recall that an equivalence transformation of a $\operatorname{PDEs}, \mathrm{E}(\mathrm{x}, \mathrm{t}, \mathrm{u})=0$, is an invertible transformation of the independent and dependent variables of the form
$t^{\prime}=Q(x, t, u), x^{\prime}=P(x, t, u), u^{\prime}=R(x, t, u)$
that maps every equation of the class into an equations of the same form, $E\left(x^{\prime}, t^{\prime}, u^{\prime}\right)=0$. A complete classifications of the transformations of the class (3) that connects equation (1) and
$u_{t^{\prime}}^{\prime}+\epsilon^{\prime}\left(u^{\prime m^{\prime}}\right)_{x^{\prime}}+\frac{1}{b^{\prime}}\left[u^{\prime a^{\prime}}\left(u^{\prime b^{\prime}}\right)_{x^{\prime} x^{\prime}}\right]_{x^{\prime}}=0$
provides us the so called form preserving transformations (Kingston, 1998) (or admissible transformations (Ovsiannikov, 1959) of equation (1). Equivalence transformations can be regarded as a subset of such transformations.

In order to derive the desired equivalence group of transformations we need to consider two cases:
(i) $\mathrm{a}+\mathrm{b}-1 \neq 0$ and (ii) $\mathrm{a}+\mathrm{b}-1=0$.
case (i) If a $+\mathrm{b}-1 \neq 0$, we have $t^{\prime}=\beta t+\gamma, x^{\prime}=\alpha x+\delta, u^{\prime}=\alpha^{-\frac{1}{a+b-1}} \beta^{\frac{3}{a+b-1}} u$
where $\epsilon^{\prime} \beta^{-\frac{a+b-m}{a+b-1}}=\in \alpha^{\frac{a+b-3 m+2}{a+b-1}}$
From the above relation we deduce that $\in \epsilon^{\prime} \succ 0$ or $\in=\epsilon^{\prime}=0$ and $\alpha, \beta$ are nonnegative. Furthermore nonzero $\in$ and $\epsilon^{\prime}=1$ and an equation with can be transformed into one with $\epsilon^{\prime}=-1$. That is we can take without loss of generality $\in=\epsilon^{\prime}= \pm 1$. Hence, for this last possibility, equation (1) admits a three parameter group of transformation.
$t^{\prime}=\alpha^{\frac{a+b-3 m+2}{a+b-m}} t+\gamma, x^{\prime}=\alpha x+\delta, u^{\prime}=\alpha^{-\frac{2}{a+b-m}} u$,
$\left(a^{\prime}, b^{\prime}, m^{\prime}, \in= \pm 1\right)=(a, b, m, \in= \pm 1)$
While in the case $\in=\epsilon^{\prime}=0$ equation (1) takes the form $u_{t}+\frac{1}{b}\left[u^{a}\left(u^{b}\right)_{x x}\right]=0$
which it admits the four-parameter equivalence group (5).
Now if $m=m^{\prime}=1$ we obtain the 4 -parameter equivalence group
$t^{\prime}=\beta t+\gamma, x^{\prime}=\alpha x+\left(\beta \in^{\prime}-\alpha \in\right) t+\delta$
$u^{\prime}=\alpha^{-\frac{1}{a+b-1}} \beta^{-\frac{3}{a+b-1}} u,\left(a^{\prime}, b^{\prime}=(a, b)\right)$
From this equivalence transformation we deduce that equations (1) and (4) are connected with $\in o r \in$ being zero. In the other words, in the case where $m=1$ equation (1) can be mapped into equation (7).
case (ii) If $\mathrm{a}+\mathrm{b}-1=0$,
In this case, which also implies that $a^{\prime}+b^{\prime}=1$ we have $t^{\prime}=\alpha^{3} t+\gamma, x^{\prime}=\alpha x+\delta, u^{\prime}=\beta u$ where $\in \beta^{1-m}=\alpha^{2} \in^{\prime}$ (9)

As in the previous case we have $\in \epsilon^{\prime} \succ 0$ or $\in=\epsilon^{\prime}=0$. Hence in the case $\epsilon=\epsilon^{\prime}= \pm 1$ equation (1) admits a three parameter equivalence group $t^{\prime}=\alpha^{3} t+\gamma, x^{\prime}=\alpha x+\delta, u^{\prime}=\alpha^{\frac{2}{1-m}} u$
while in case $\in=\epsilon^{\prime}=0$, it admits four parameter equivalence group (9). Finally if $m=1$ which also implies that $\mathrm{m}^{\prime}=1$, equation (1) admits four parameter equivalence group $t^{\prime}=\alpha^{3} t+\gamma, x^{\prime}=\alpha x+\left(\alpha^{3} \in^{\prime}-\alpha \in\right) t \delta, u^{\prime}=\beta u$. Clearly as in the previous case, if $m=1$ equation (1) can be mapped simpler equation (7).
Theorem 1: Equation (1) admits
(1) a three parameter Lie group if $a, b$ and $m$ are arbitrary;
(2) a four parameter Lie group if (a) $\mathrm{a}, \mathrm{b}$ are arbitrary and $\mathrm{m}=0$ and if (b) $\mathrm{a}=0, \mathrm{~b}=1$ and $\mathrm{m}=2$;
(3) a five parameter Lie group of $a=0, b=-1 / 2$ and $m=0$;
(4) an infinite - dimensional Lie group if $a=0, b=1$ and $m=0$.

Any other member of the class (1) is equivalent to the above five cases.
In this case $m=0$ which is equation (7), if we set $n=a+b-1$ and $k=b-1$, we obtain the a class of equations
$\frac{\partial u}{\partial t}=-\frac{\partial}{\partial x}\left(u^{n} \frac{\partial^{2} u}{\partial x^{2}}-a u^{n-1}\left(\frac{\partial u}{\partial x}\right)^{2}\right)$
$u_{t}+\left[u^{n} u_{x x}+k u^{n-1} u_{x}^{2}\right]_{x}=0$. The results on Lie symmetries presented in Theorem (1).
Invariant Solutions: We give optimal system which consists a list of inequivalent subalgebras for the three cases of Theorem (1) and we give some examples of reduced ODE's.
(1) Here we have three Lie symmetries

$$
\Gamma_{1}=\partial_{t}, \Gamma_{2}=\partial_{x}, \Gamma_{3}=(a+b-3 m+2) t \partial_{t}
$$

$$
+(a+b-m) x \partial_{x}+2 u \partial_{u}
$$

that produce an optimal system which depend upon the values of the parameter $\mathrm{a}, \mathrm{b}$ and m . We get four sub cases.
(i) $a+b-3 m+2 \neq 0, a+b-m \neq 0$
$\left\langle\Gamma_{3}\right\rangle,\left\langle\Gamma_{1}+c \Gamma_{2}\right\rangle,\left\langle\Gamma_{2}\right\rangle$ where $\mathrm{c}=0, \pm 1$. For each component of the optimal system we construct the corresponding similarity reduction that transforms (1) into an ODE. We obtain the following $\left.\Gamma_{2}\right\rangle: u=\phi(\omega), \omega=t$
$\left\langle\Gamma_{1}+c \Gamma_{2}\right\rangle: u=\phi(\omega), \omega=x-c t$
$\left\langle\Gamma_{3}\right\rangle: u=t^{\frac{2}{a+b-3 m+2}} \phi(\omega), \omega=x t^{-\frac{a+b-m}{a+b-3 m+2}}$
The reduction that corresponds to the sub algebra $\left\langle\Gamma_{1}+c \Gamma_{2}\right\rangle$ leads to the equation $c \phi_{\omega}-\left[\phi^{a+b-2}\left(\phi \phi_{\omega \omega}+(b-1) \phi_{\omega}^{2}\right)+\in \phi^{m}\right]_{\omega}=0$
which provides travelling wave solutions for equation (1).
(ii) $a+b-3 m+2 \neq 0, a+b-m=0$.
$\left\langle\Gamma_{3}+\alpha \Gamma_{2}\right\rangle,\left\langle\Gamma_{1}+c \Gamma_{2}\right\rangle,\left\langle\Gamma_{2}\right\rangle$ where $\mathrm{c}=0, \pm 1$ and $\alpha \in \mathrm{R}$. The sub algebra $\left\langle\Gamma_{3}+\alpha \Gamma_{2}\right\rangle$ produces the reduction $u=x^{\frac{1}{(m-1)}} \phi(\omega), \omega=x^{-\frac{\alpha}{2(1-m)}} e^{t}$
$u=t^{\frac{1}{(m-1)}} \phi(\omega), \omega=t^{-\frac{\alpha}{2(1-m)}} e^{x}$.
(iii) $a+b-3 m+2=0, a+b-m \neq 0$.
$\left\langle\Gamma_{3}+\alpha \Gamma_{1}\right\rangle,\left\langle\Gamma_{1}+c \Gamma_{2}\right\rangle,\left\langle\Gamma_{2}\right\rangle$ where $\mathrm{c}=0, \pm 1$ and $\alpha \in \mathrm{R}$. The sub algebra $\left\langle\Gamma_{3}+\alpha \Gamma_{1}\right\rangle$ produces the reduction $u=x^{\frac{1}{(m-1)}} \phi(\omega), \omega=x^{-\frac{\alpha}{2(1-m)}} e^{t}$.
(iv) $\mathrm{a}+\mathrm{b}-3 \mathrm{~m}+2=0, \mathrm{a}+\mathrm{b}-\mathrm{m}=0 \Rightarrow \mathrm{~m}=1, \mathrm{a}+\mathrm{b}=1,\left\langle\Gamma_{3}+\alpha \Gamma_{2}+\beta \Gamma_{1}\right\rangle,\left\langle\Gamma_{1}+\gamma \Gamma_{2}\right\rangle,\left\langle\Gamma_{2}\right\rangle$ where $\alpha, \beta, \gamma \in$ R.

The sub algebra $\left\langle\Gamma_{3}+\alpha \Gamma_{2}+\beta \Gamma_{1}\right\rangle$ produces the reduction $u=e^{\frac{t}{\beta}} \phi(\omega), \omega=x-\frac{\alpha}{\beta} t$, if $\beta \neq 0$,

$$
u=e^{\frac{x}{a}} \phi(\omega), \omega=\text { tif } \beta=0
$$

In the case $\beta \neq 0$ the sub algebra $\left\langle\Gamma_{3}+\alpha \Gamma_{2}+\beta \Gamma_{1}\right\rangle$ leads to the equation $\alpha \phi_{\omega}-\phi-\beta\left[\phi_{\omega \omega}+(b-1) \phi^{-1} \phi_{\omega}^{2}+\in \phi^{m}\right\rfloor_{\omega}=0$
and in case $\beta=0$, we obtain the solution $u=c_{1} \exp \left[\frac{1}{\alpha^{3}}\left(\alpha^{2} x-\left(\in \alpha^{2}+b\right) t\right)\right]$
(2a) Here we have four Lie symmetries $\Gamma_{1}, \Gamma_{2}, \Gamma_{3}(m=0)$ and $\Gamma_{4}=3 t \partial_{t}+x \partial_{x}$, which in addition to the sub bases 1(i)-1(iii) produce the reduction that corresponds to the sub algebra $\left\langle\Gamma_{4}+c \Gamma_{3}\right\rangle$ where $\mathrm{c}=0, \pm 1$. This sub algebra gives $u=t^{\frac{2 c}{3+(a+b+2) c}} \phi(\omega), \omega=x t^{-\frac{1+(a+b) c}{3+(a+b+2) c}}$
if $3+(a+b+2) c \neq 0$,
$u=x^{-\frac{c}{c+1}} \phi(\omega), \omega=t$, if $3+(\mathrm{a}+\mathrm{b}+2) \mathrm{c}=0$
In the case $3+(\mathrm{a}+\mathrm{b}+2) \mathrm{c}=0$, we obtain the solution $u=x^{-\frac{c}{c+1}}\left[\frac{3(a+b+2)(1+2 b-a) t}{(a+b-1)^{2}}-c_{1}\right]^{-\frac{1}{a+b-1}}$
(2b) Here we have four Lie symmetries $\Gamma_{1}, \Gamma_{2}, \Gamma_{3}(a=0, b=1, m=2)$ and $\Gamma_{4}=2 \in t \partial_{t}+\partial_{u}$, which in addition to the sub case (1) (i) produce the reduction that corresponds to the sub algebra $\left\langle\Gamma_{4}+c \Gamma_{1}\right\rangle$ where $\mathrm{c}=0, \pm 1$. We obtain $u=\frac{t}{c}+\phi(\omega), \omega=x-\frac{\in}{c} t^{2}$, if $c \neq 0$
$u=\frac{x}{2 \in t}+\phi(\omega), \omega=t$ if $c=0$.
In the case $\mathrm{c} \neq 0$ we obtain $\phi_{\omega \omega \omega}+2 \in \phi \phi_{\omega}+\frac{1}{c}=0$. We integrate this equation and the integral has the form $\phi_{\omega \omega}+\in \phi^{2}+\frac{\omega}{c}=0$ where $c_{1}$ is the constant integration. Sub case of the above equation, is the first Painleve's transcendent with the form $\phi_{\omega \omega}+6 \phi^{2}+\omega=0$. Finally, in the case $\mathrm{c}=0$, we obtain the solution $u=\frac{x+2 \in c_{1}}{2 \in t}$.
(3) Here we have five Lie symmetries, $\Gamma_{1}, \Gamma_{2}, \Gamma_{3}(a=0, b=-1 / 2, m=0), \Gamma_{4}=3 t \partial_{t}+x \partial_{x}$ and $\Gamma_{5}=x^{2} \partial_{x}+4 x u \partial_{u}$ which in addition to the sub cases 1(i) and 2(a) produce the reduction that corresponds to the sub algebra $\left\langle\Gamma_{5}+\alpha \Gamma_{2}+\beta \Gamma_{4}\right\rangle$ where $\alpha, \beta \in \mathrm{R}$.
Potential Symmetries: In this case we consider the potential system, $v_{x}=u$
$v_{t}=-\in u^{m}-\frac{1}{b}\left[u_{a}\left(u^{b}\right)_{x x}\right]$, which it admits a Lie symmetries if and only if

$$
\begin{equation*}
\Gamma^{(1)}\left[v_{x}-u\right]=0 \tag{12}
\end{equation*}
$$

$\Gamma^{(2)}\left[v_{t}+\in u^{m}+\frac{1}{b}\left[u^{a}\left(u^{b}\right)_{x x}\right]\right]=0$

ISSN: 0974-2115
www.jchps.com
for $v_{x}=u$ and $v_{t}=-\left[\in u^{m}+u^{a+b-1} u_{x x}+(b-1) u^{a+b-2} u_{x}^{2}\right] \quad$ We recall that $\Gamma^{(1)}, \Gamma^{(2)}$ are the first and second extensions of the generator $\Gamma=\tau(t, x, u, v) \partial_{t}+\xi(t, x, u, v) \partial_{x}+\zeta(t, x, u, v) \partial_{v}$
From the coefficients of $u_{x} u_{x x}, u_{x x}$ and $u_{x}$ of (12) and from the coefficient $u_{x} u_{x x}$ of (13) we get that the coefficient $\tau$ is a function of $t$ and the coefficient $\xi$ and $\zeta$ are functions of $t, x$ and $v$. From equation (12) we have that $\eta=-\xi_{v} u^{2}-\left(\xi_{x}-\zeta_{v}\right) u-\zeta_{x}$
After we have used the above results, we have that functions $\tau, \xi, \eta, \zeta$ are satisfying the following determining system
$(a+b+2) \xi_{v} u^{2}-\left[\tau_{t}-(a+b+2) \xi_{v}+(a+b-1) \zeta_{v}\right] u$
$-(a+b-1) \zeta_{x}=0$
$\left(b^{2}+a b+2 b-a\right) \xi_{v} u^{2}-(b-1)\left[\tau_{t}-(a=b+2) \xi_{x}\right] u$
$-(b-1)\left[(a+b-1) \zeta_{v}\right] u-(b-1)(a+b-2) \zeta_{x}=0(15)$
$2(b+2) \xi_{v v} u^{3}+\left[(4 b+5) \xi_{v v}-(2 b+1) \zeta_{v v}\right] u^{2}$
$+\left[(2 b+1) \xi_{x x}-(4 b-1) \zeta_{x v}\right] u-2(b-1) \zeta_{x x}=0$
$\in(m-1) \xi_{v} u^{m+2}-\in\left[\tau_{t}-m \xi_{x}+(m-1) \zeta_{v}\right] u^{m+1}$
$-\in m \zeta_{x} u^{m} \xi_{v v v} u^{a+b+3}+3\left(\xi_{x v v}-\zeta_{v v v}\right) u^{a+b+3}$
$+3\left(\xi_{x x v}-\zeta_{x v v}\right) u^{a+b+2}+\left(\xi_{x x x}-3 \zeta_{x x v}\right) u^{a+b+1}$
$-\zeta_{x x x} u^{a+b}+\xi_{t} u^{2}-\zeta_{t} u=0$
Equation (17) can break up into more equations in proportion the valves of the parameter $\mathrm{a}, \mathrm{b}$ and m .
From the coefficient of $u^{2}$ in equation (14) we get two cases $\xi_{v}=0$ or $\mathrm{a}+\mathrm{b}+2=0$. After we have solved the determining system ( $14-17$ ) we observe that for the case that $\xi_{v}=0$ and $\mathrm{a}+\mathrm{b}+2=0$ we do not find potential symmetries. The system (11) admits Lie symmetries which induce potential symmetries for the corresponding equation (1) in two cases.
(1) $\mathrm{a}+\mathrm{b}+2=0$ and $\xi_{v} \neq 0$
(2) $\mathrm{a}+\mathrm{b}+2 \neq 0$ and $\xi_{v}=0$.

We present only the potential symmetries when $\quad m \neq 1$. We use the equivalence transformations, equation (1) can be mapped into (7). We obtain that the following Lie symmetries of the system (11) induce potential symmetries for the corresponding equation (1)
(1) $(\mathrm{a}, \mathrm{b}, \mathrm{m})=(0,-2,-1)$
$\Gamma=v \partial_{x}-u^{2} \partial_{u}-2 \in t \partial_{v}$
(2) $(\mathrm{a}, \mathrm{b}, \mathrm{m})=(3 / 2,-1 / 2,3)$
(i) $\epsilon>0$
$\Gamma_{1}=\sqrt{2 \in u} \operatorname{Cos}\left(\sqrt{2 \in v} \partial_{u}\right)+\operatorname{Sin} \sqrt{2 \in v} \partial_{v}$

(ii) $\epsilon<0$
$\Gamma_{1}=\sqrt{2|\epsilon|} u e^{\sqrt{2| | \mid v}} \partial_{u}+e^{\sqrt{2| | v}} \partial_{v}$
$\Gamma_{2}=-\sqrt{2|\in|} u e^{-\sqrt{2|\epsilon| v}} \partial_{u}+e^{-\sqrt{2|\epsilon|} v} \partial_{v}$.
Further Potential Symmetries: Equation (1) can be written in other conserved forms when the parameter n, a and $b$ satisfy certain relations. For example, if $a \neq b+1, a \neq b$ and $m \neq a-b$, the auxiliary system takes the form
$v_{x}=u^{b-a+1}$

$$
v_{t}=(a-b-1)\left[\begin{array}{l}
u^{2 b-1} u_{x x}+\frac{1}{2}(a+b-2) u^{2 b-2} u_{x}^{2}  \tag{17}\\
-\frac{\in m}{a-b-m} u^{b-q+m}
\end{array}\right]
$$

for which Lie symmetries above induce potential symmetries of (1) in two cases. The first case is when (a, b, m) = $(3,1,3)$ the system admits the following Lie symmetry which is a potential symmetry of (1).
$\Gamma=v \partial_{x}-\partial_{u}-6 \in t \partial_{v}$
The second case that the system (17) produces potential symmetries is when $(a, b, m)=(3 / 2, \quad-1 / 2,-1)$ and the symmetries have the form
(i) $\epsilon>0$
$\Gamma_{1}=-\frac{2 \epsilon u}{3} e^{\sqrt{\frac{2 \epsilon}{3}}{ }_{v}} \partial_{u}+\sqrt{\frac{-2 \epsilon}{3}} e^{-\sqrt{\frac{2 \epsilon}{3}} v} \partial_{v}$
$\Gamma_{2}=\frac{2 \in u}{3} e^{-\sqrt{\frac{2 \epsilon}{3} v}} \partial_{u}+\sqrt{\frac{2 \epsilon}{3}} e^{-\sqrt{\frac{2 \epsilon}{3}}{ }_{v}} \partial_{v}$
(ii) $\epsilon<0$
$\Gamma_{1}=\frac{-2|\in| u}{3} \operatorname{Cos}\left(\sqrt{\frac{2|\epsilon|}{3}} v\right) \partial_{u}+\sqrt{\frac{2|\epsilon|}{3}} \operatorname{Sin}\left(\sqrt{\frac{2|\in|}{3}} v\right) \partial_{v}$
$\Gamma_{2}=\frac{2|\in| u}{3} \operatorname{Sin}\left(\sqrt{\frac{2|\epsilon|}{3}} v\right) \partial_{u}+\sqrt{\frac{2|\epsilon|}{3}} \operatorname{Cos}\left(\sqrt{\frac{2|\epsilon|}{3}} v\right) \partial_{v}$ In case for which $\mathrm{m}=\mathrm{a}-\mathrm{b}, \mathrm{a} \neq \mathrm{b}+1$ and $\mathrm{a} \neq \mathrm{b}$ equation (1)
can be written as a system of two equations
$v_{x}=u^{b-a+1}, v_{t}=(a-b-1)\left[\begin{array}{l}u^{2 b-1} u_{x x}+\frac{1}{2}(a+b-2) u^{2 b-2} u_{x}^{2} \\ +\in(a-b) \ln u\end{array}\right]$
If $\mathrm{a}=\mathrm{b}$ and $\mathrm{m} \neq 0$, then equation (1) admits the conservation law
$v_{x}=\ln u$
$v_{t}=-u^{2 b-1} u_{x x}+\frac{1}{2}(1-2 b) u^{2 b-2} u_{x}^{2}+\frac{\in m}{m-1} u^{m-1}$
Lie symmetries of the above three systems lead only to Lie symmetries to (1).

## 2. RESULTS

From this paper we obtained potential symmetries form by substituted for $\mathrm{a}, \mathrm{b}, \mathrm{m}$ some values and discussed the cases (i) $\epsilon>0$ and (ii) $\epsilon<0$. Hence Lie symmetries of the all the above discussed three systems lead only to Lie symmetries to
$E=u_{t}+\epsilon\left(u^{m}\right)_{x+1}\left[u^{a}\left(u^{b}\right)_{x x}\right]_{x}=0$

## 3. CONCLUSION

The main goal of this paper was the investigation of symmetry properties for special classes of nonlinear evolution PDEs. Also we have given optimal system which consists a list of in equivalent sub algebras. Further potential symmetries were discussed; finally a peculiar result is obtained. We hope the results given in this paper will further enrich group analysis.

## REFERENCES

Arrigo DJ, Hill JM, Nonclassical Symmetries for nonlinear diffusion and absorption. Stud Appl Math, 94, 1995, 2139.

Bruzon MS, Gandarias ML, Torrisi M, Tracina R, On some applications of transformation groups to a class of nonlinear dispersive equation. Nonlinear Anal Real World Appl 13, 2012, 1139-1151.

Charalambous K, Sophocleous C, Symmetry analysis for a class of nonlinear dispersive equation 2010 MSC:
35G01
Gandarias ML, New Symmetries for a model of fast Diffusion Phys Lett A, 286, 2001, 153-160.
Kingston J G, Sophocleous On form preserving point transformations of partial differential equations J Phys A, 31, 1998, 1597-1619.

Levi D, Winternitz P, Non classical Symmetry Reduction: Example Mof the Boussinesq equation, J Phys A, 22, 1989, 2915 - 2924.

Oran A, Rosenau P, Some symmetries of nonlinear heat and wave equations. Phys Lett A, 118, 1986, 172-176.
Ovsiannikov L V, Group relations of the equation of nonlinear heat conductivity, Dokl Akad Nauk SSSR (125), 1959, 492-495.

Popovych RO, Kunziger M, Eshraghi H, - Admissible transformations and normalized classes of nonlinear Schrodinger equations. Acta Appl Math 109, 2010, 315-359.

Rosenau P, Compact and non-compact dispersive patterns. Phys Rev Lett A, 275, 2000, 193 - 203.
Rosenau P, Compact and non-compact structures. Phys Rev Lett 73, 1994, 1737 - 1741.
Rosenau P, Hyman J M, Compactions: solutions with finite wavelength. Phys Rev Lett, 70, 1993, 564 - 567.
Rosenau P, On a model equation of traveling and stationary compactions Phys Rev Lett A, 356, 2006, 44 - 50
Rosenau P, What is a $\qquad$ compaction? Notices Amer Math Soc, 52, 2005, 738 - 739.
Rubinstein J, Evolution equations for stratified dilute suspensions. Phys Fluids A, 2, 3-6.

